I3 - &% I - %2 | B i &
EREERARESR XH
EHETEEER ; (S08BRKH)
0.16 i
WhEE (BHHRBEDH)
23 B LA 7 B
EH AR (BEDBEES)
5<L=10 2 ¥E
THER (BEOEBFLUN)
1.7 A
EHRRAEER ;. (L <10m)
21 B LAfE 1.6 =]
EHRRAEER ; (L=10m)
218 B LAE 3.8 A
HMESERK
L<10m; 1.18B. L=10m; 1.4H 0.16 =
HEHE (EREHER
hRT &€ 2ME 0.16 7%
HEE (ERERETER)
EFAT. MIAR 1.0 | %%
BEEREE
REXBE
REXBE
1 =X
ZDEERE
BRAREER #g5m 62.4%:/8
fEEX=E#96m, FREFEHE200ke 1.5 B |EmEsygman 148
e E
RBFEERESB
3| A-H
REMER XM 158
0.16 X [ERERH
RE_HERER (X Zwm)] 1/ 2




T - AW M g2 B & %

belo

ZEEHRT (X - BK)

4 B 10482 Y  0.714A

AR ERLE

RIS A

RIR_BERER [N %] 2 / 2




